ORIGINAL ARTICLE



On a Diophantine Equation

Nguyen Xuan Tho¹ 💿

Received: 10 September 2020 / Accepted: 6 November 2020 / Published online: 27 April 2021 © Vietnam Academy of Science and Technology (VAST) and Springer Nature Singapore Pte Ltd. 2021

Abstract

This paper proves that for all positive integers n, the equation

$$\frac{x}{y} + p\frac{y}{z} + \frac{z}{w} + p\frac{w}{x} = 8np,$$

where p = 1 or p is a prime congruent to 1 (mod 8), does not have solutions in positive integers.

Keywords Diophantine equations · Hilbert symbol · Sum of fractions

Mathematics Subject Classification (2010) Primary 11D68 · Secondary 11G05

1 Introduction

The problem concerning the sum of rationals whose product is 1 has been studied by many authors. Cassels [5] showed that the equation

$$\frac{x}{y} + \frac{y}{z} + \frac{z}{x} = 1$$

does not have solutions in integers. Bremner and Guy [3] found integer solutions to the equation

$$\frac{x}{y} + \frac{y}{z} + \frac{z}{x} = n$$

for many values of *n* in the range $|n| \le 1000$. Sierpinski [6] asked if the equation

$$\frac{x}{y} + \frac{y}{z} + \frac{z}{x} = 4$$

has solutions in positive integers? Bondarenko [1] showed that the equation

$$\frac{x}{y} + \frac{y}{z} + \frac{z}{x} = 4k^2$$

Nguyen Xuan Tho tho.nguyenxuan1@hust.edu.vn

School of Applied Mathematics and Informatics, Hanoi University of Science and Technology, Hanoi, Vietnam

does not have solutions in positive integers if $3 \nmid k$. Using the technique developed by Bremner and Tho [4], which is based on Stoll's idea [8], we will prove the following results:

Theorem 1 Let n be a positive integer. Then the equation

$$\frac{x}{y} + \frac{y}{z} + \frac{z}{w} + \frac{w}{x} = 8n$$

does not have solutions in positive integers.

Theorem 2 Let n be a positive integer, p - a prime congruent to 1 (mod 8). Then the equation

$$\frac{x}{y} + p\frac{y}{z} + \frac{z}{w} + p\frac{w}{x} = 8pn$$

does not have solutions in positive integers.

An equivalent form of Theorem 1 is that there are no four positive rationals whose product is 1 and sum is an integer divisible by 8. In the next section, we give a proof for Theorem 2. Theorem 1 can be proven in a similar (and simpler) way. All computations in the paper are done in Magma [2].

2 Proof of Theorem 2

2.1 Notation

For a prime q and a nonzero q-adic number a, denote $v_q(a)$ the highest power of q dividing a. By definition, $\mathbb{Q}_{\infty} = \mathbb{R}$. Let $k = \mathbb{Q}_q$ or $k = \mathbb{R}$. For a, b in k^* , the Hilbert symbol $(a, b)_q$ is defined by

$$(a,b)_q = \begin{cases} 1 & \text{if } ax^2 + by^2 = z^2 \text{ has a solution } (x, y, z) \neq (0, 0, 0) \text{ in } k^3, \\ -1 & \text{otherwise.} \end{cases}$$

When $k = \mathbb{Q}_{\infty}$, the symbol $(a, b)_{\infty}$ is defined similarly. The following properties of Hilbert symbol are true, see Serre [7, Chap. III]:

(i) For $a, b, c \in \mathbb{Q}_a^*$,

$$(a, bc)_q = (a, b)_q (a, c)_q,$$

 $(a, b^2)_q = 1.$

(ii) For $a, b \in \mathbb{Q}^*$,

$$(a, b)_{\infty} \prod_{q \text{ prime}} (a, b)_q = 1.$$

(iii) For $a, b \in \mathbb{Q}_q^*$, let $a = q^{\alpha}u, b = q^{\beta}v$, where $\alpha = v_q(a)$ and $\beta = v_q(b)$. Then

$$(a,b)_q = (-1)^{\alpha\beta(q-1)/2} \left(\frac{u}{q}\right)^{\beta} \left(\frac{v}{q}\right)^{\alpha}, \quad \text{if } q \neq 2,$$

$$(a,b)_q = (-1)^{\frac{(u-1)(v-1)}{4} + \frac{\alpha(v^2-1)}{8} + \frac{\beta(u^2-1)}{8}}, \quad \text{if } q = 2,$$

where $\left(\frac{u}{q}\right)$ denotes the Legendre symbol.

Deringer

2.2 Proof

Assume that (x, y, z, w) is a positive integer solution to

$$\frac{x}{y} + p\frac{y}{z} + \frac{z}{w} + p\frac{w}{x} = 8pn \tag{1}$$

with gcd(x, y, z, w) = 1.

Consider two quadratic forms:

$$D(X, Z) = X^{2} + Z^{2} - 2XZ(8pn^{2} - 1),$$

$$H(X, Z) = X^{2} + Z^{2} - 2XZ(8pn^{2} + 1).$$

Lemma 1

$$D(x, z) < 0, \quad H(y, w) < 0.$$

Proof From (1) and the AM-GM inequality, we have

$$8pn = \left(\frac{x}{y} + \frac{pw}{x}\right) + \left(\frac{py}{z} + \frac{z}{w}\right) \ge 2\sqrt{\frac{x}{y}\frac{pw}{x}} + 2\sqrt{\frac{py}{z}\frac{z}{w}}$$
$$= 2\sqrt{p}\frac{y+w}{\sqrt{yw}}.$$

Thus,

$$4n\sqrt{pyw} \ge y + w.$$

Hence,

$$y^2 - 2(8pn^2 - 1)yw + w^2 \le 0.$$

Similarly,

$$8np = \left(\frac{x}{y} + \frac{py}{z}\right) + \left(\frac{z}{w} + \frac{pw}{x}\right) \ge 2\left(\sqrt{\frac{x}{y}\frac{py}{z}} + \sqrt{\frac{z}{w}\frac{pw}{x}}\right)$$
$$= 2\sqrt{p}\frac{x+z}{\sqrt{xz}}.$$

Thus,

$$4n\sqrt{pxz} \ge x+z.$$

Hence,

$$x^2 - 2(8pn^2 - 1)xz + z^2 \le 0.$$

Since $(8pn^2 - 1)^2 - 1$ is not a perfect square, we have $y^2 - 2(8pn^2 - 1)yw + w^2 < 0$ and $x^2 - 2(8pn^2 - 1)xz + z^2 < 0$. Hence D(x, z) < 0 and H(y, w) < D(y, w) < 0.

From (1):

$$x^{2}zw + py^{2}wx + z^{2}xy + pw^{2}yz - 8npxyzw = 0.$$
 (2)

Fix *x*, *z* and consider the projective curve $F_{x,z}(Y, W, d) = 0$, where

$$F_{x,z}(Y, W, d) = pxWY^2 + pW^2Yz + (xz^2Y + x^2zW)d^2 - 8npxzYWd.$$

Then, $F_{x,z}(y, w, 1) = F_{x,z}(0, 1, 0) = 0$. So, $F_{x,z}(Y, W, d) = 0$ is isomorphic to the elliptic curve

$$C_{x,z}: \omega^2 = u(u^2 + pxz(16n^2pxz - x^2 - z^2)u + p^2x^4z^4)$$
(3)

🖄 Springer

via the rational maps $\phi \colon F_{x,z} \to C_{x,z}$,

$$\phi(Y:W:d) = \left(\frac{-x^2 z^2 W p}{Y}, \frac{x^2 z^2 W (4nxzd - xY - zW)}{Yd}\right),$$

and $\psi: C_{x,z} \to F_{x,z}$,

$$\psi(u,\omega) = \left(px^2z^2(4nxzu + p\omega) : -u(4nxznu + p\omega) : zu(u - px^3z)\right)$$

Let D = D(x, z), H = H(x, z). Let

$$A = pxz(16n^{2}pxz - x^{2} - z^{2}),$$

$$B = p^{2}x^{4}z^{4}.$$

Lemma 2 If q is an odd prime, then

$$(u, D)_q = 1.$$

Proof Let $d = \text{gcd}(x, z), x = dx_1, y = dy_1$, where $x_1, z_1 \in \mathbb{Z}^+$ with $\text{gcd}(x_1, z_1) = 1$, $u_1 = \frac{u}{d^4}$ and $\omega_1 = \frac{\omega}{d^6}$. Then

$$(D(x, z), u)_q = (d^2(x_1^2 + z_1^2 - 2(8pn^2 - 1)x_1z_1), d^4u_1)_q$$

= $(D(x_1, z_1), u_1)_q$.

From (3), we also have

$$\omega_1^2 = u_1 \left(u_1^2 + p x_1 z_1 (16 p n^2 x_1 z_1 - x_1^2 - z_1^2) u_1 + p^2 x_1^4 z_1^4 \right).$$

Therefore, it is enough to prove Lemma 2 in the case gcd(x, z) = 1.

Let $u = q^r u_0$, where $r = v_q(u)$. We consider the following cases:

Case 1: r < 0. From (3), we have

$$\omega^{2} = q^{3r} u_{0} (u_{0}^{2} + q^{-r} A u_{0} + q^{-2r} B).$$

Thus

$$3r = v_q(\omega^2) = 2v_q(\omega).$$

Therefore, 2 | r. Now

$$(q^{-3r/2}\omega)^2 = u_0(u_0^2 + q^{-r}Au_0 + q^{-2r}B).$$

Taking reduction (mod p) shows u_0 is a square (mod q). Thus $u_0 \in \mathbb{Z}_q^2$. Because r is even, we have $u = q^r u_0 \in \mathbb{Q}_q^2$. Hence $(D, u)_q = 1$.

Case 2: r = 0. Let $D = q^k D_1$, where $k = v_q(D)$. Because $D \in \mathbb{Z}$, we have $k \ge 0$. Suppose 2 | k. Because u and D_1 are units in \mathbb{Z}_q , we have $(u, D_1)_q = 1$. Thus

$$(u, D)_q = (u, q^k D_1)_q = (u, D_1)_q = 1.$$

We consider the case $2 \nmid k$. Then,

$$x^{2} + z^{2} \equiv 2(8pn^{2} - 1)xz \pmod{q}.$$

Hence,

$$(x+z)^2 \equiv 16pn^2xz \pmod{q}.$$

🖄 Springer

We have

$$u^{2} + Au + B = \left(u + \frac{A}{2}\right)^{2} - \frac{p^{2}x^{2}z^{2}HD}{4}$$
$$\equiv \left(u + \frac{A}{2}\right)^{2} \pmod{q}.$$

- (i) Suppose $q \nmid u + \frac{A}{2}$. Then $u^2 + Au + B \in \mathbb{Z}_q^2$. Because $\omega^2 = u(u^2 + Au + B)$, we have $u \in \mathbb{Z}_q^2$. Thus $(u, D)_q = 1$.
- (ii) Suppose $q \mid u + \frac{A}{2}$. Thus $u \equiv -\frac{A}{2} \pmod{q}$. Therefore, $q \nmid A$. Because $q \mid D$, we have

$$A = pxz(2xz - D) \equiv 2px^2z^2 \pmod{q}.$$

Because $q \nmid u$ and $q \nmid A$, we have $q \nmid 2px^2z^2$. Now $q \nmid 2pxz$, so gcd(D, H) = 1. Let $S = u + \frac{A}{2}$ and $T = \frac{HD}{4}$. Because gcd(H, D) = 1 and $q \mid D$, we have $v_q(T) = v_q(D) = k$. Let $S = q^l S_1$, $T = q^k T_1$, where $l = v_q(S)$. From $\omega^2 = u(u^2 + Au + B)$ and $q \nmid u$, we have

$$v_q(u^2 + Au + B) = 2v_q(\omega).$$

Thus $2 | v_q (u^2 + Au + B)$. On the other hand,

$$v_q(u^2 + Au + B) = v_q(S^2 + T) = v_q(q^{2l}S_1^2 + q^kT_1).$$

Since $2 \nmid k$, we must have 2l < k. Thus,

$$u^{2} + Au + B = q^{2l}(S_{1}^{2} + q^{k-2l}T_{1}) \in \mathbb{Q}_{q}^{2}$$

Hence, $u = \frac{\omega^2}{u^2 + Au + B} \in \mathbb{Q}_q^2$. So $(u, D)_q = 1$. Case 3: r > 0.

- Case $J, T \geq 0$.
- (a) Suppose $q \nmid pxz$. Since $(u^2 + Au + B)\alpha^2 + D\beta^2 = \gamma^2$ has a solution $(1, 0, px^2z^2)$ (mod q), it has a nontrivial solution in \mathbb{Q}_q . Therefore,

$$(u^2 + Au + B, D)_q = 1.$$

Because $u(u^2 + Au + B) = \omega^2 \neq 0$, we have $(u, D)_q = 1$. (b) Suppose q | xz. Then q | x or q | z. If q | x, then

$$D = x^{2} + z^{2} - 2p(8n^{2} - 1)xz \equiv z^{2} \pmod{q}.$$

Note that gcd(x, z) = 1, thus $D \in \mathbb{Z}_q^2$. Therefore, $(u, D)_q = 1$. Similarly, we also have $(u, D)_q = 1$ if $q \mid z$.

(c) Suppose $q \nmid xz$ and q = p. Then $u = p^r u_0$. So

$$\omega^2 = p^r u_0 (p^{2r} u_0^2 + A p^r u_0 + p^2 x^4 z^4).$$

We have two subcases:

(i) $r \ge 2$. Then $2v_p(\omega) = r + 2$. Thus 2 | r. We now have

$$(\omega p^{-r/2})^2 = u_0 (p^{2r-2}u_0^2 + Ap^{r-2}u_0 + x^4 z^4).$$

Because p | A, a reduction (mod p) gives $u_0 x^4 z^4$ is a square (mod p). Therefore, $u_0 \in \mathbb{Z}_q^2$. Thus,

$$(u, D)_p = (2^s u_0, D)_p = 1.$$

🙆 Springer

(ii) r = 1. Then

$$\omega^2 = p u_0 (p^2 u_0^2 + p A u_0 + p^2 x^4 z^4)$$

= $p^3 u_0 (u_0^2 + xz(16pn^2 xz - x^2 - z^2)u_0 + x^4 z^4).$

Thus *p* divides

$$u_0^2 + xz(-x^2 - z^2)u_0 + x^4z^4 = (u_0 - x^3z)(u_0 - xz^3).$$

Therefore,

 $u_0 \equiv x^3 z \pmod{p}$ or $u_0 \equiv x z^3 \pmod{p}$. If $u_0 \equiv x^3 z \pmod{p}$, then

$$(pu_0, p)_p = (-1)^{(p-1)/2} \left(\frac{u_0}{p}\right) = \left(\frac{x^3 z}{p}\right)$$
$$= \left(\frac{-x^4}{p}\right) = \left(\frac{-1}{p}\right)$$
$$= (-1)^{\frac{p-1}{2}}$$
$$= 1.$$

Similarly, if $xz^3 \equiv 0 \pmod{p}$, then $(pu_0, p)_p = 1$. So it is always true that

$$(pu_0, p)_p = 1.$$
 (4)

Now

$$D = (x + z)^2 - 16pn^2xz \equiv (x + z)^2 \pmod{p}.$$

Suppose $p \nmid x + z$. Then $D \in \mathbb{Z}_p^2$. Hence $(u, D)_p = 1$. We consider the case $p \mid x + z$. Let $x + z = p^s f$, where $s = v_p(x + y) > 0$. Then

$$D = p(p^{2s-1}f^2 - 16n^2xz).$$

- Suppose that $p \nmid n$, then

$$p^{2s-1}f^2 - 16n^2xz \equiv (4nx)^2 \pmod{p}.$$

Hence, $p^{2s-1}f^2 - 16n^2xz \in \mathbb{Z}_p^2$. Let $D = pD_1^2$, where $D_1 \in \mathbb{Z}_p$. Then from (4),

$$(u, D)_p = (pu_0, pD_1^2)_p = (pu_0, p)_p = 1$$

- Suppose that $p \mid n$. Let $n = p^t n_1$, where $t = v_p(n) > 0$. Then

$$D = p^{2s} f^2 - 16p^{2t+1} xz.$$

If $s \leq t$, then

$$D = p^{2s}(f^2 - 16p^{2t+1-2s}n_1^2xz)$$

Thus $D \in \mathbb{Z}_p^2$. Hence $(u, D)_p = 1$. We consider the case s > t. Then

$$D = p^{2t+1}(p^{2s-2t-1}f^2 - 16n_1^2xz).$$

Because

$$p^{2s-2t-1} f^2 - 16n_1^2 xz \equiv 16n_1^2 x^2 \pmod{p},$$

we have $D = p^{2s+1}D_2^2$, where $D_2 \in \mathbb{Z}_p$. From (4), we have
 $(u, D)_p = (pu_0, p^{2r+1}D_2^2)_p = (pu_0, p)_p = 1.$

Lemma 3 If $4 \nmid x + z$, then

$$(D, u)_2 = 1.$$

Proof Let d = gcd(x, z), let $x = dx_1$, $y = dy_1$, where $x_1, z_1 \in \mathbb{Z}^+$ with $\text{gcd}(x_1, z_1) = 1$, let $u_1 = \frac{u}{d^4}$ and $\omega_1 = \frac{\omega}{d^6}$. Then

$$(D(x, z), u)_q = \left(d^2(x_1^2 + z_1^2 - 2(8pn^2 - 1)x_1z_1), d^4u_1\right)_q$$

= $\left(D(x_1, z_1), u_1\right)_q$.

From (3), we also have

$$\omega_1^2 = u_1 \left(u_1^2 + p x_1 z_1 (16 p n^2 x_1 z_1 - x_1^2 - z_1^2) + p^2 x_1^4 z_1^4 \right).$$

Of course, $4 \nmid x_1 + z_1$ if $4 \nmid x + z$. Therefore, it is enough to prove Lemma 3 in the case gcd(x, z) = 1.

If $2 \nmid x + z$, then

$$D = (x + z)^2 - 16pn^2xz \equiv 1 \pmod{8}$$

So $D \in \mathbb{Z}_2^2$, hence $(D, u)_2 = 1$. Let us consider the case 2 | x + z. Because $4 \nmid x + z$, we can write x + z = 2h with $2 \nmid h$. Then

$$D = 4(h^2 - 4pn^2xz).$$

We consider two cases:

- (a) 2 | n. Then $h^2 4pn^2xz \equiv 1 \pmod{8}$. Thus $D \in \mathbb{Z}_2^2$. Hence $(D, u)_2 = 1$.
- (b) $2 \nmid n$. Then $pn^2xz \equiv 1 \pmod{4}$, and so $h^2 4pn^2xz \equiv 5 \pmod{8}$. Thus $D = 4D_1$, where $D_1 \equiv 5 \pmod{8}$.

Let $u = 2^r u_1$, where $r = v_2(u)$. Then

$$\omega^2 = 2^r u_1 (2^{2r} u_1^2 + 2^r A u_1 + B).$$

(i) Suppose $r \ge 3$. Then $r = 2v_2(\omega)$. We have

$$(2^{-r/2}\omega)^2 = u_1(2^{2r}u_1^2 + 2^rAu_1 + B).$$

Because

$$2^{2r}u_1^2 + 2^rAu_1 + B \equiv B \pmod{8}$$
$$\equiv p^2x^4z^4 \pmod{8}$$
$$\equiv 1 \pmod{8},$$

we have $u_1 \equiv 1 \pmod{8}$. Thus $u_1 \in \mathbb{Z}_2^2$, so $u = 2^r u_1 \in \mathbb{Z}_2^2$. Hence $(u, D)_2 = 1$. (ii) Suppose r = 2. Then

$$\left(\frac{\omega}{2}\right)^2 = u_1(2^4u_1^2 + 2^2Au_1 + B)$$

Taking a reduction (mod 8) gives $u_1 \equiv 1 \pmod{8}$. Therefore, $u = 2^2 u_1 \in \mathbb{Z}_2^2$. Hence $(u, D)_2 = 1$.

(iii) Suppose r = 1. Then

$$\omega^2 = 2u_1(4u_1^2 + 2Au_1 + B),$$

what is impossible (mod 2).

(iv) Suppose r = 0. Then $u = u_1$ and $D = 2^2 D_1$, where $D_1 \equiv 5 \pmod{8}$. Therefore,

$$(u, D)_2 = (u_1, 2^2 D_1)_2$$

= $(u_1, D_1)_2$
= $(-1)^{(u_1-1)(D_1-1)/4}$
= 1.

(v) Suppose r < 0. Then

$$\omega^{2} = 2^{3r} u_{1} \left(u_{1}^{2} + 2^{-r} A u_{1} + 2^{-2r} B \right).$$

Therefore, $3r = 2v_2(\omega)$. Thus $r \leq -2$. Then

$$\left(2^{-3r/2}\omega\right)^2 = u_1\left(u_1^2 + 2^{-r}Au_1 + 2^{-2r}B\right).$$

Note that 2 | A, so taking a reduction (mod 8) gives $u_1 \equiv 1 \pmod{8}$. Thus $u_1 \in \mathbb{Z}_2^2$, so $u \in \mathbb{Z}_2^2$. Hence $(u, D)_2 = 1$.

Lemma 4 If $4 \nmid x + z$, then

$$(u, D)_{\infty} = 1.$$

Proof Since $(D, u)_q = 1$ for all prime q, and

$$(D, u)_{\infty} \prod_{\substack{q \text{ prime}, q < \infty}} = 1,$$

we have

$$(u, D)_{\infty} = 1.$$

Lemma 5 If q is an odd prime, then

$$(H, u)_q = 1.$$

Proof Because $A^2 - 4B = p^2 x^2 z^2 DH$, we have

$$\omega^2 = u\left(\left(u + \frac{A}{2}\right)^2 - DH\left(\frac{pxz}{2}\right)^2\right).$$

So

 $u\alpha^2 - uDH\beta^2 = \omega^2,$

where $\alpha = u + \frac{A}{2}$ and $\beta = \frac{pxz}{2}$. Thus

$$(u, -uHD)_a = 1.$$

On the other hand, $(u, -u)_q = 1$ and $(u, D)_q = 1$; therefore,

$$(u, H)_a = 1.$$

🙆 Springer

Lemma 6 If $4 \nmid x - z$, then

$$(u, H)_2 = 1.$$

Proof Similar to the proof of Lemma 3, it is enough to consider the case gcd(x, z) = 1. Suppose $2 \nmid x - z$, then

$$H = (x - z)^2 - 16pn^2xz \equiv 1 \pmod{8}.$$

Thus $H \in \mathbb{Z}_2^2$, and hence $(u, H)_2 = 1$. We consider the case 2 | x - z. Because $4 \nmid x - z$, let x - z = 2k, where $2 \nmid k$. Then

$$H = 4(k^2 - 4pn^2xz).$$

We consider two cases:

- (a) 2 | n. Then $k^2 4pn^2xz \equiv 1 \pmod{8}$. Thus $H \in \mathbb{Z}_2^2$ and $(u, H)_2 = 1$.
- (b) $2 \nmid n$. Then $4pn^2xz \equiv 4 \pmod{8}$. Thus $k^2 4pn^2xz \equiv 5 \pmod{8}$, so $H = 4H_1$, where $H_1 \equiv 5 \pmod{8}$. Let $u = 2^r u_1$, where $r = v_2(u)$. Then

$$\omega^2 = 2^r u_1 (2^{2r} u_1^2 + 2^r A u_1 + B).$$

(i) Suppose $r \ge 3$. Then $r = 2v_2(\omega)$. Thus 2 | r. We have

$$(2^{-r/2}\omega)^2 = u_1(2^{2r}u_1^2 + 2^rAu_1 + B).$$

Taking reduction (mod 8) gives $2^{2r}u_1^2 + 2^rAu_1 + B \equiv 1 \pmod{8}$. Hence $u_1 \in \mathbb{Z}_2^2$, thus $u = 2^r u_1 \in \mathbb{Z}_2^2$. So $(u, H)_2 = 1$.

(ii) Suppose r = 2. Then

$$\left(\frac{\omega}{2}\right)^2 = u_1(2^4u_1^2 + 2^2Au_1 + B).$$

Taking reduction (mod 8) gives $u_1 \equiv 1 \pmod{8}$. Therefore, $u \in \mathbb{Z}_2^2$. Hence $(u, H)_2 = 1$.

(iii) Suppose r = 1. Then

$$\omega^2 = 2u_1(4u_1^2 + 2Au_1 + B),$$

what is impossible (mod 2).

(iv) Suppose r = 0. Then $u = u_1$ and $H = 2^2 H_1$, where $H_1 \equiv 5 \pmod{8}$. Therefore,

$$(u, H)_2 = (u_1, 2^2 H_1)_2$$

= $(u_1, H_1)_2$
= $(-1)^{(u_1 - 1)(H_1 - 1)/4}$
= 1.

(v) Suppose r < 0. Then

$$\omega^{2} = \frac{u_{1}(u_{1}^{2} + 2^{-r}Au_{1} + 2^{-2r}B)}{2^{-3r}}$$

Therefore, 2 | r. Thus $r \leq -2$. Now

$$(2^{3r/2}\omega)^2 = u_1(u_1^2 + 2^{-r}Au_1 + 2^{-2r}B).$$

Note that 2 | A, so taking (mod 8) gives $u_1 \equiv 1 \pmod{8}$. Therefore, $u_1 \in \mathbb{Z}_2^2$, so $u \in \mathbb{Z}_2^2$. Thus $(u, H)_2 = 1$.

Lemma 7 If $4 \nmid x - z$, then

$$(u, H)_{\infty} = 1.$$

Proof Since $(u, H)_q = 1$ for all primes q and

$$(u, H)_{\infty} \prod_{q \text{ prime}} (u, H)_q = 1,$$

we have

$$(u, H)_{\infty} = 1.$$

We summarize Lemmas 2, 3, 4, 5, 6, and 7 into the following proposition:

Proposition 1

- $(D(x, z), u)_q = (H(x, z), u)_q = 1$ if q is an odd prime or $q = \infty$.
- $(D(x, z), u)_2 = (D(x, z), u)_{\infty} = 1 \text{ if } 4 \nmid x + z.$
- $(H(x, z), u)_2 = (H(x, z), u)_{\infty} = 1 \text{ if } 4 \nmid x z.$

In order for (2) to have a positive integer solutions, we seek for points (u, ω) on $C_{x,z}$ such that $\psi(u, \omega) = (Y : W : d)$ satisfies $d \neq 0$, $\frac{Y}{d} > 0$ and $\frac{W}{d} > 0$. If u = 0, then $\omega = 0$. Because $\psi(0, 0) = (1 : 0 : 0)$, we have $u \neq 0$. Therefore,

$$\begin{cases} \frac{px^2z(4nxzu+p\omega)}{u(u-px^3z)} > 0, \\ -\frac{4xznu+p\omega}{u-px^3z} > 0. \end{cases}$$

Multiplying two inequalities gives u < 0. Let

$$(u,\omega) = \phi(y:w:1) = \left(\frac{-x^2 z^2 w p}{y}, \frac{x^2 z^2 w (4nxz - xy - zw)}{y}\right).$$
 (5)

If $\omega \neq 0$, then we consider the following cases:

- $4 \nmid x + z$. From Proposition 1, we have $(D(x, z), u)_{\infty} = 1$. Because D(x, z) < 0, by Lemma 1 we have u > 0, contradicting u < 0.
- $4 \nmid x z$. From Proposition 1, we have $(H(x, z), u)_{\infty} = 1$. Because H(x, z) < 0, by Lemma 1 we have u > 0, contradicting $u_0 < 0$.
- 4 | x + z and 4 | x z. Let $x = 2x_1$ and $z = 2z_1$ with $x_1, z_1 \in \mathbb{Z}$ and $2 \nmid x_1, z_1$. Then $4 \nmid x_1 + z_1$ or $4 \nmid x_1 z_1$. From $\omega^2 = u(u^2 + Au + B)$, we have

$$\left(\frac{\omega}{2^6}\right)^2 = \frac{u}{2^4} \left(\left(\frac{u}{2^4}\right)^2 + A_1\left(\frac{u}{2^4}\right) + B_1 \right),$$

D Springer

where $A_1 = px_1z_1(16pn^2x_1z_1 - x_1^2 - z_1^2)$ and $B_1 = p^2x_1^4z_1^4$. Now $4 \nmid x_1 - z_1$ or $4 \nmid x_1 + z_1$, so we have $(D(x_1, z_1), \frac{u}{2^4})_2 = 1$ or $(H(x_1, z_1), \frac{u}{2^4})_2 = 1$. In addition,

$$(D(x, z), u)_2 = \left(2^2 D(x_1, z_1), 2^4 \frac{u}{2^4}\right)_2 = \left(D(x_1, z_1), \frac{u}{2^4}\right)_2.$$

Similarly

$$(H(x, z), u)_2 = \left(H(x_1, z_1), \frac{u}{2^4}\right)_2$$

So $(D(x, z), u)_2 = 1$ or $(H(x, z), u)_2 = 1$. Hence u > 0, contradicting u < 0. Therefore, $\omega = 0$. From (5), we have

$$4nxz - xy - zw = 0. (6)$$

Thus

$$\frac{y}{z} + \frac{w}{x} = 4n.$$

$$\frac{x}{y} + \frac{z}{w} = 4np.$$
(7)

Hence

Now fix y, w and consider the equation $F_{y,w}(X, Z, d) = 0$, where

$$F_{y,w}(X, Z, d) = X^2 y Z + p y^2 Z w d^2 + Z^2 w X + p w^2 X y d^2 - 8np X Z dy w.$$

Then $F_{y,w}(0, 1, 0) = F_{y,w}(x, z, 1) = 0$. So $F_{y,w}(X, Z, d) = 0$ is isomorphic to the elliptic curve

$$C_{y,w}: \omega^{2} = u' \left(u'^{2} + pyw \left(16n^{2}pyw - y^{2} - w^{2} \right) u' + p^{2}y^{4}w^{4} \right),$$

via the rational maps $\alpha \colon F_{y,w} \to C_{y,w}$,

$$\alpha(X:Z:d) = \left(\frac{-w^2 p Z y^2}{X}, \frac{-p y^2 w^2 Z (Xy + Zw - 4npywd)}{Xd}\right),$$

and $\beta \colon E_{y,w} \to F_{y,w}$,

$$\beta(u',\omega') = \left(pw^2(4npywu' + \omega') : -u'(4npywu' + \omega') : wu'(u' - py^3w) \right).$$

We have the following result:

Proposition 2

- $(D(y, w), u')_q = (H(y, w), u')_q = 1$ if q is an odd prime.
- $(D(y, w), u')_2 = (D(y, w), u')_{\infty} = 1 \text{ if } 4 \nmid y + w.$
- $(H(y, w), u')_2 = (H(y, w), u')_{\infty} = 1 \text{ if } 4 \nmid y w.$

Proof The same as for Proposition 1.

In order for (2) to have positive integer solutions, we seek for points (u', ω') on $C_{y,w}$ such that $\beta(u', \omega') = (X : Z : d)$ satisfies $d \neq 0$, $\frac{X}{d} > 0$ and $\frac{Z}{d} > 0$. If u = 0, then $\omega = 0$. Because $\beta(0, 0) = (1 : 0 : 0)$. We must have $u \neq 0$. So

$$\begin{cases} \frac{pw(4npywu' + \omega')}{u'(u' - py^3w)} > 0, \\ -\frac{4npywu' + \omega'}{w(u' - py^3w)} > 0. \end{cases}$$

Multiplying together the two inequalities gives u' < 0. Assume

$$(u', \omega') = \alpha(x : z : 1) = \left(\frac{-py^2w^2z}{x}, \frac{-py^2w^2z(yx + wz - 4npyw)}{x}\right).$$
 (8)

If $\omega' \neq 0$, we then consider the following cases:

- $4 \nmid y + w$. From Proposition 2, we have $(D(y, w), u')_{\infty} = 1$, thus u' > 0 because D(y, w) < 0 by Lemma 1. This contradicts u' < 0.
- $4 \nmid y w$. From Proposition 2, we have $(H(y, w), u')_{\infty} = 1$. Because H(y, w) < 0, we have u' > 0, contradicting u' < 0.
- 4 | y + w and 4 | y w. Then $y = 2y_1$ and $w = 2w_1$, where $2 \nmid y_1, w_1$. Then $4 \nmid y_1 + w_1$ or $4 \nmid y_1 w_1$. Then similar to the case $4 \nmid x + z$ and $4 \nmid x z$, we have $(D(y, w), u')_{\infty} = 1$ or $(H(y, w), u')_{\infty} = 1$; the either case implies u' > 0, which contradicts u' < 0.

Therefore, $\omega' = 0$. From (8), we have

$$xy + zw - 4npyw = 0. (9)$$

From (6) and (9), we have

$$4nxz = 4npyw.$$

Thus,

$$\frac{x}{y}\frac{z}{w} = p. \tag{10}$$

From (7) and (10), we have

$$(4np)^2 - 4p = \left(\frac{x}{y} - \frac{z}{w}\right)^2$$

Thus $4n^2p^2 - p \in \mathbb{Q}^2$, hence $4n^2p^2 - p \in \mathbb{Z}^2$, impossible because $p^2 \nmid 4n^2p^2 - p$. Therefore, there are no positive integer solutions to (1).

Acknowledgements The author would like to thank Professor Andrew Bremner for suggesting this problem and to thank Professor Nguyen Duy Tan for many valuable conversations. This work is partially supported by Vietnam National Foundation for Science and Technology Development (NAFOSTED) [grant number 101.04-2019.314].

References

- 1. Bondarenko, A.V.: Investigation of one class of Diophantine equations. Ukr. Math. J. 52, 953–959 (2000)
- Bosma, W., Cannon, J., Playoust, C.: The Magma algebra system i: The user language. J. Symb. Comput. 24, 235–265 (1997)
- 3. Bremner, A., Guy, R.K.: Two more representation problems. Proc. Edinb. Math. Soc. 40, 1–17 (1997)
- 4. Bremner, A., Tho, N.X.: The equation (w + x + y + z)(1/w + 1/x + 1/y + 1/z) = n. Int. J. Number Theory **14**, 1229–1246 (2018)
- 5. Cassels, J.W.S.: On a diophantine equation. Acta Arith. 6, 47-52 (1960)
- 6. Sierpinski, W.: 250 Problems in Elementary Number Theory. Elsevier, New York (1970)
- 7. Serre, J.-P.: A Course in Arithmetic. Graduate Texts in Mathematics, vol. 7. Springer, New York (1973)
- Stoll, M.: Answer to MathOverflow Question: Estimating the size of size of solutions of a diophantine equation. https://mathoverflow.net/questions/227713/estimating-the-size-of-solutions-of-a-diophantineequation

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.